
690 SMC R 2019 <2019><US><F9775S9>
MASK, FENDERS

51790

Pos Part Number Description Additional Text Quantity

1* 76908001000C1 Headlight shroud 1.00

3* 76908010000C1 Front fender Supermoto 1.00

4 77307040041 Isolation pad 1.00

5 69008021060 special screw M5x17 4.00

6 54603048200 RANGE CHANGE METAL NUT M5 4.00

10 0025060166 HH collar screw M6x16 TX30 6.00

12* 76908013000C1 Rear fender 1.00

13* 76908015000 License plate holder, upper pa 1.00

14 60006001023 Rubber grommet, standby gas se 1.00

15 69008021040 special screw M6x14 2.00

19* 76908016000 License plate holder, bottom p 1.00

20* 83008000012 special screw M6x12x3 2.00

21* 83008000015 SPECIAL SCREW M6X15X3 2.00

22* 0024060156S HH collar screw M6x15 TX30 2.00

23 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00



24* 6411208100033 Retaining bracket side reflect 1.00

25 58412080400 Rear reflector red 3.00

26 0025080556 HH collar screw M8x55 TX40 4.00

27* 76912008000 passenger handle bar left 1.00

28* 76912009000 passenger handle bar right 1.00

29 54603048100 clip nut M6 2.00
* = New part


